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Warm Up

1. InAABC, BC=18, AB=13, and AC = 16.
List the angles of the triangle from least to greatest.

L C, ¢, LA
2. Solve: -3x +‘77=_171
-z =-19 <= &
’)’ "7 (M‘,’/".Sr'-,ve ‘F 31(-1#77

=7
3. Write the converse, inverse, and contrapositive: W
x’

: 14’7
ifx = 10, then 3x -8 =22 Ce™€73¢ %= 10

«-3 $£37

5-6 Inequalities in Two Triangles

A R

Hinge Theorem -
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Ex1 Howdoes []ACB compare to[ JACD
B wWlZAD > 4 sacD

Ex.2 How does AD compare to CD ?

3¢ L 30

AD > cD
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Ex.3 Complete with <, >, or =

MN < IK TR <\ UR
22:
U7 7
R
7 =S
24°
Ex.4 Complete with <, >, or =
ma_< mZ2 mll_= m/2
P \@«M
13
m/l > m/2
39
1
2 |

42
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Indirect Proof -

1. A.ssuvv]& -]rk.\.)- Lhe 5-\-«"‘0M¢y)‘)~
Yav’y{_ Pra,i"\? 75 'FqlSZ.

2. rln..c\)ov\ ’07;4-(”7 vl Yov

have o« Contra dict, on

C L(ué(. )"\‘\l" ‘”\z 0"9“"\‘ 5‘)’6"‘8m‘|’
3. on

mviy be trve

Ex 5  Write an indirect proof.

Given: a and b are both odd numbers
Prove: a + b is an even number

@ A‘5$\,MQ O\I-\: IS o\v\OA.l n Leabev

@ 'Qv-&\'\"'oél == OA A
DAA 4+ Puen = 640‘
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Ex 6  Write an indirect proof.

Given: [JC is aright angle.
Prove: ;1 +mOd2 = 90°

@ ASSng il a2 ¢90.

@ LF we) #me2 < 9‘0", Fle., ey S 60

LF e #2025 56°, Hhem m3<50°

l;-z > neﬁefare e T4l BT Ae R 98

Ex. 7 Prove that there are an infinite number of prime
numbers.

Assume ?here are finide vumbe, ok
Prl'-'\t "\vw\b(fs

MV“".PL/ F#hewm Yogether
(Qog. <04' e.f. e \ ,I_’
Y

ce e Created Q mew P,':_\e #
7

T Remefore There ave sn nRute Haof Prioes
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